BLOCK 2 > TOPIC 3

LESSON 2

CONCEPT
'WORK

- [GEE Estimate the product.

Estimate: 50 x 40 2000

d

BEE Estimate the product.
23 x 79

Estimate: X

- E Rename both factors.
_ 52x36=(50 + 2 )y x (20 + 6 )

52 x 36 =
AWOXWGv+AWOX & ) +

ANXWDV.TANme

EEE Rename both factors.

23 X 79
23 X 79

(_+_)x(C_+

( X )+ X

| ﬁ Find the partial products.

50 % 30 = 1500
50x 6= 300
Zx30= 860
Z2x &= J2

ﬁ Find the partial products.

i
{

E Add the partial products.

| _ E Add the partial products.

50 x 30 = 1500
50x 6= 300
2x30= 60
Zx 6= 12

1872

Is your answer reasonable?

i

23 X 79 =

Is your answer reasonable?

)

) +

Multiply 2-Digit Factors Using the Distributive Property

2 4
=

Estimate the product.

47 x 88

Estimate:

(sTep2]

47 x 88 = (

Rename both factors.

+ ) X (

+_ )

47 x88=(_ x_ )+( x

( x_ )+ _x

GEE Find the partial products.

GMN- Add the partial products.

Is your answer reasonable?

) +

)

47 x 88 =




EXIT

_._.mn.xma

> PRACTICE

‘ » Find the product.
74 x 28
” 38 x 73 BB+ )R+ )
i ) ) T4x28=(_ x )+ x _ )+
: Estimate: X = Estimate: X =
¢ (Cx _ D)+ x_)
t
EBIxX69=(_ +_ I)x(_+_ ) 38x73=(_+_ )x(_+_)
61xX69=(( x_ )+ _ x_ )+ 38x73=(__x_ )+ _x__)+
(x_)+(_x_) (. _xX_J)+( %x_ )
74 x 28 =
> How is splitting two 2-digit
factors similar to splitting
rectangles to multiply?
Splitting two 2-digit factors is E
similar 1o splitting rectangles to
_ multiply because
61 X 69 = 38x73=
Is your answer reasonable? . Is your answer reasonable? score (0) (1) (2)




